€407 aded £40 1 28ed

W9
"2ING1 U UMOLS YI0MIOU 20URISISAL DY) 10) sppweled - Z o puld (@ g

‘2B U UMOYS JINDII 3 10§ J0JSISAIL {I6 UL JUDLIND UL (q

Ho
> - N9
uf (oX4] ;
T | | |
W9 leﬁ% W\Ig‘l @ 9 ~ol ﬁ v .:lww b ._H\ v
&R}

og-  AA fh.tﬂ??.ip.. AT S—

ol oy s
spromiau Jiod omy Burmofjoy oy Jo sypwered | oyl upqO - ‘sisATeue

lepou Buisn &g y1omiou GUImo][o] AU 10§ 0311 ()] U UMD dunuija (e

I LINN|

A0l
JUOHBIDXD P YIM 1IN $aLIas Ty jo asuodsar juarsuesy ayj st ey m(i)
W9 11,500 )7 puta (1)
N9 sos e 2z /192161 F= (1)) uonpuny 2 jo uuogsuely adepdeT ay pury() (g
) goiedes ayy pue 10381Sal Ayl $s0.0e afejjoA A sunuIa
ﬂnuwm Wo -uonenba juarmd oy ureiqorg=) e jmau ayy oy padde st AQz Jo aderjoa
JuRIsSuod B sey 4170 Jo 1o1peded pue g JO 0SISaI JO SISISUOD JINDID Y sauas (v
spromiau pod omy Surmornog jo siaawesed 2 pue y uieiqo qO
1INn N9 UORRIIIND Y] YIIM JINID Dy ue Jo asuodsar juatsuen sy oata  (q
W9 UOTBIING YV UITM JINDIID )y ue Jo asuodsal Juaisuer) sy saua (e
ydesd teuerd-uou pue teuepd suyag (1) T
WA ydesdouyaa (1) (@ W9 ‘prOl paauLIod Jes M) mea(] ()

“Anpenp auyeq (1) (SWNSAS PAOUR|BQUN BY) SA[OS O PASN SLL SPOYIAW JUDIAIIP DY 21e Jeyax(n)

SwAlsAs poroouuod rejs ut drjsuoneal uanms pue sdeijoa s aum() (g
. WO ‘peot ay)
_ £q paumsuod tamod (0303 (111 sjuaLmd auy (1 sjuannd aseyd (1 sununlog wMsig

ACS s

A w AN e 2 AQOF B O] pajdauund ejpp oae cmun_:—u«N.mmn_owHuN "ag 102="Z sapuepadwr aoayg) (e
g (o)
A e TN A
L ol ig> “1amod [210) DM [elnau
‘sisApeue [epou Sursn Aq 019z s1 10381501 N9 ut udLIn ﬁcmmsu aull N[ G (0zhsD=tZ 0 i,éu.ﬂm ‘0 (gl+¥)=1Z are peoy
DOL AU UT JUILIND SY) SHLW YDIYM B UT UMOYS JIndaid 3 1o A a8ejjoa purg 9 UL "ADOF Jo aBej[oa padueeq b Sey POl Paauund Ivls alism |opadueiequn uy - (q
M:.u . *peO PapauUod
Wo IPIS Ul SJUDLIND ‘saBeloA our| pue asey ] ueamiaq drysuonepol sy aauag (e
| _ “TIND)
= (SR 09 = ZI X §) Jun 1oea wol) uopsanb auo spmsuy
vE M il W e mog_ 09 SRy XeW SINOR] ¢ W]
va (Buniapuidug souoadalg pue [eILa[)
7 - SLINDUID TVORLLOATH
b w VAV 120z -8ny suopeunuexy Ateppweiddng misowag [ 1ea ) 1] Y21 g
AOT e ANLLN “ADOTONHIEL ANV IDNIIDS 40 H1LNLILSNI VHLAVAJIS

oLl { 361900 d'D oL ( 70203861 2P0 'd'D




10

Q.P. Code: 19EE0202 ) R19

b)

a)

b)

a)

b)

T 2 T,

Determine Y parameters of the following network.

amHa  WHQ

(1/3) Q

[UNTT-V]

Derive Laplace transform of all standard signals.
A 500Q resister, a 16Mh inductor, and a 25 nF capacitor are connected in parallel
which is placed in series with a 2000Q resistor, Express the impedance of this
series combination as a rational function of s.

OR
Using the initial value theorem, find the initial value of the signal corresponding to

the Laplace transform. Y(5) = M_MM_:

There is no encrgy stored in the circuit shown in at the time the impulse voltage is
applied. Find o (t)fort = o0.

100 5mH

A 111 e

750 5(f) 20 mH %
mV
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Code: 19EE0240

Time: 3 Hours

4.

(@)
(b)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:: PUTTUR
B.Tech II Year I Semester Supplementary Examinations Aug- 2021
BASIC ELECTRICAL & ELECTRONICS ENGINEERING
(Mechanical)

Note: For Part-A, use first 16 pages...for Part-B, use 17 page onwards
PART-A
(Answer all Three units, 3 x 10 =30 Marks)
UNIT -1
Find the average, RMS values of sinusoidal waveform and also find form factor
OR
Derive and explain the relations of voltage, current and power with series and

parallel resistive circuits .

State and Explain Ohm’s law and list out its limitations.
UNIT - 11
Find current flowing through 5Q resistor using Norton’s Theorem

NN 2
ic 10 €2
10V Sea (A1a s
bs

OR
Derive the expressions for Z-Parameters of a two port network.
UNIT - 111
Explain the principle operation of DC motor with neat sketch.
OR
Derive the EMF equation of a single phase transformer.
PART- B
(Answer all Three units, 3 x 10 =30 Marks)
UNIT - I
Explain the construction and V-I characteristics of Diode.
OR
Explain in detail about Intrinsic & Extrinsic Semiconductors
UNIT - II
Explain how BJT can acts as an amplifier with neat diagram
OR

Explain how a transistor can acts as a switch
List out the applications of transistor.
UNIT - 111

Explain the construction and operation of a MOSFET with its V-1 characteristics.

OR
Explain how a JFET can acts as a switch and amplifier

Max. Marks: 60
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Q.P. Code: 19EC0421

Time: 3 Hours

1 a)
b)
2 a)
b)
3 a)
b)
4 a)
b)
5 a)
b)
6 a)
b)
7 a)
b)
8 a)
b)
9 a)
b)
10 a)

b)

MICROPROCESSORS & MICROCONTROLLERS
(CSE)

Answer one question from each unit (5 x 12 = 60 Marks)

UNIT-I

Differentiate Microprocessor and Microcontroller. Mention applications
Draw the functional block diagram of 8085 microprocessor

OR

Explain the pin diagram of 8085 in detail.
Explain the memory mapped i/o addressing scheme

UNIT-II
Discuss about the flag register of 8085 microprocessor.
With suitable examples explain 8085 addressing modes in detail.

OR

Draw and explain the timing diagram of opcode fetch cycle.
Explain any FOUR two-byte instructions used in 8085 processor

UNIT-III

Explain how interrupts are prioritized.
Explain the different serial communication modes in 8051

OR

Explain the I/O port structure of 8051
Name any four additional hardware features available in microcontrollers when

compared to microprocessors.
NIT-1V

Discuss about the addressing modes of 8051 micro controller
Explain mov, move and movx instructions of 8051 with examples

OR
Explain different data transfer instructions of 8051 microcontroller with
suitable examples.
Explain different arithmetic instructions of 8051 microcontroller with examples

With a neat schematic, explain the interfacing of A to D converters with 8051

microcontroller.

Explain the interfacing of LEDs to 8051 microcontroller.

OR

Elaborate the need of a dedicated keyboard display controller.
Explain briefly about interface an 8-bit 7-segment LED display to 8051 through
port 1 and port 3 and write a assembly language program to display message on
the display

Pagelof1
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Max. Marks: 60
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
B.Tech II Year I Semester Supplementary Examinations Aug- 2021

STRENGTH OF MATERIALS
(Mechanical)
Time: 3 Hours Max. Marks: 60
KEEKA
Answer all question and all questions carry equal marks 5x12=60M
UNIT-I

1. A wrought iron bar is 7.5m long and is 5 cm is diameter for 1.5m of its length, 4 cm in diameter
for 2m of its length and 3cm in diameter for the remainder. The bar is in tension and the stress
in the smallest section is 90 N/mm?2, Find the total elongation of the bar if E = 200 kN /mm2,

OR

2. The principal stresses at a point in an elastic material are 1.5f (tensile), f (tensile) and %f

(compressive). If the elastic limit in simple tension is 210N/mm?2, determine the value of f at
failure, according to the five different theories. Take u=0.3
UNIT-II
3. A cantilever 1.5 m long carries a gradually varying load over the whole span, from zero at free
end and increment of load 25kN/m towards the fixed end, Draw shear force and bending
moment diagrams for the beam.
OR
4. A simply supported beam AB of span 8 m carrying point loads of 4 kN, 5 kN at diatances 5m and
bm respectively form left hand support. Calculate the values of shear force and bending
moment at salient points, and draw S.F. and B.M. diagrams.
UNIT-III
5. An [- section beam of flanges 20cm x 2cm and web 30cm x 1cm is acted on by a shearing force of
180kN. Determine:
(1) The maximum and minimum shearing stress in the web.
(ii) The maximum shear stress in the flange.
OR
6. In a hollow circular shaft, the external diameter is 100mm and internal diameter is 60mm. The
allowable shear stress in the shaft material is 65 N/mm2 Determine the angle of twist in a
—  length of twenty times the external diameter of the shaft. Take G=8 x 10¢ N/mm?2.
UNIT-IV
7. A simply supported beam of span 3m and cross-sectional area 100mm x 300mm carries a point
load of 15kN at a distance of 1m from the left end. Find the slope at its two ends and deflection
under the point load. Take E=2 x 104 N/ mm?2.
OR
8. The section of a column is a rectangle 20cm x 10cm. The column carries an axial compressive
load of 25kN. Factor of safety is 3 and E= 2.1 x 10* kN/cm2. Determine the length of the column
whose one end is fixed and the other end is free.
UNIT-V
B. The internal diameter of a cylindrical shell is Tm and tis length is 3m, the plates being 1.5cm
thick. Determine the circumferential and longitudinal stresses set up and the changes in
dimensions of the shell when a fluid is introduced in it at a pressure of 1.6 N/mm?2 Take

E=200kN/mm?and = = 0.3.
OR
18. The external and internal radii of a thick cylindrical shell are respectively 300mm and 150mm.

The cylinder is subjected to an internal fluid pressure of 15 N/mm2. Determine the maximum
and minimum hoop stresses in the material of the shell.
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Time: 3 Hours
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:: PUTTUR

B.Tech Il Year I Semester Supplementary Examinations Aug- 2021

COMPUTER ORGANIZATION AND ARCHITECTURE
(CSE)

Answer one question from each unit (5 x 12 = 60 Marks)

Describe various steps of instruction cycle?
List out the Computer Instructions and Explain about it

OR
[[lustrate any four addressing modes with neat sketch.

NIT-II
Show the steps of signed operand multiplication with example?
OR

What are the steps of Division restoring and draw the flow chart with
an example.

NIT-

Narrate the three- state bus buffers with neat sketch.
Write about binary increment with neat sketch

OR
Explain in detail about Arithmetic Micro Operations?
NIT-I
Describe the semiconductor RAM and its types in detail?
OR

]
[

Give detailed notes on DMA controllers and transfers with neat sketch.

NIT-

Describe the concept of Pipelining with clear example
Explain about characteristics of Multiprocessor?

OR

[llustrate three possible ways of implementing a multiprocessor system
with neat sketch.

Page1lof1l
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:: PUTTUR
B. Tech II Year I Semester Supplementary Examinations Aug-2021
ELECTRONIC DEVICES AND CIRCUITS

(EEE & ECE)

Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)

Explain the term diffusion capacitance Cp of a PN diode.
What is a clamper. Explain the operation of a negative clamper.
OR
Draw the energy band diagrams of PN junction and explain the working of a diode.
Explain the term transition capacitance Crof a PN diode.
NIT-II

Explain the working of capacitor filter and derive the expression for ripple factor.
Explain the construction and V-I characteristics of UJT with suitable sketches.

OR
Explain the working of a full wave bridge rectifier with circuit diagram and input
output waveforms.
Derive the relations for ripple factor and efficiency of a full wave bridge rectifier.

What are the significant differences between BIT and FET.
Explain the input and output characteristics of a transistor in CE configuration.

OR

Describe the construction and operation of an enhancement type MOSFET.
Explain the operation of a transistor as an Amplifier.

What is the Thermal Runway? How can it be avoided?
Draw a Collector to Base bias circuit and derive an expression for the Stability factor.

OR
Draw a voltage divider bias circuit and derive an expression for its Stability factor (S).
Mention the different types of biasing methods.
UNIT-E'
Draw the small signal equivalent circuit of a common source FET amplifier.
Derive the expressions for voltage gain, input impedance and output impedance
of a common source FET amplifier .

OR

Compare the three transistor amplifiers CB, CC, CE in terms of voltage gain,
current gain, input impedance and output impedance.
Analyze CE Amplifier using approximate 4-model.

Pagelof1
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:: PUTTUR

B.Tech II Year [ Semester Supplementary Examinations Aug- 2021
C AND DATA STRUCTURES
(CSE)

Time: 3 Hours Max. Marks: 60

10

b)

a)
b)

Answer one question from each unit (5 x 12 = 60 Marks)

NIT-I
Explain about while and for loops with suitable examples.

Write a program to determine the Greatest Common Divisor (GCD) of
two numbers.

OR
Describe multi-way selection statements in C with examples.
Write a C program to check whether a given number is Armstrong

number or not

What is recursion? What are the advantages and disadvantages of
recursion?
Write a C program to find the factorial of a given number using
recursion.

OR

Distinguish between call by value and call by reference parameter
passing techniques with examples.

Discuss any five string handling functions with suitable example for
each.

NIT-III
Define pointer. Explain how to pass a pointer to a function?
[Mlustrate the use of typedef statement with suitable example.
OR
Explain the concept of void pointers with examples.

Explain pointers and arrays with some example programs.

What is a stack? What are various operations that can be performed on
them? Explain any 2 operations with an example.
What do you mean by stack overflow and stack underflow?

OR

State any two applications of stacks and queues?
With an example, explain infix, i ostfix and prefix notations.

Sort the following numbers using merge sort :
45,34,12,46,27,56,11,87,6,33,28.
Explain insertion sort with an example.

OR

Explain with an example various operations of doubly linked list in detail

Page1lof1
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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:: PUTTUR
B.Tech II Year [ Semester Supplementary Examinations Aug-2021
BUILDING MATERIALS & CONSTRUCTION
(CIVIL ENGINEERING)

Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)

[UNIT-]

1 List the classifications of rocks and explain the classification based on

geological formation 1
OR
2 Explain classification of bricks and ingredients of bricks. 12M
NIT-II
3 a) Whatare properties of cement? 6M
b) Write about Timber, Glass and Steel 6M
OR
4  Write about mixing and vibration of concrete. 19M
NIT-IIT
5  What are the mechanical properties of coarse aggregate? 19M
OR
6  Write about composition of paints and preparation of paint 1M
NIT-I
7  What is function of foundation and requirements of good foundation 12M
OR :
8  Write differences between brick and stone masonry 12M
9 Draw a neat diagram of lintels and name the parts and explain. 19M
OR _
10 Discuss the defects in plastering and pointing briefly? 19M
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Q.P. Code: 19EE0203
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SIDDARTHA INSTITUTE OI SCIENCE AND TECHNOLOGY:: PUTTUR
B.Tech II Year I Semester Supplementary Examinations Aug-2021

ELECTRICAL MACHINES-I
(EEE)

Time: 3 Hours Max. Marks: 60

a)

b)

a)

b)

b)

Answer one question from each unit (5 x 12 = 60 Marks)

Deduce an expression for e.m.f equation of DC Generator?
An 8-pole lap connected armature has 960 conductors, a flux of 40 m Wb per
pole and a speed of 400 r.p.m. Calculate the emf generated on open circuit. If
the armature were wave connected, at what speed it must be driven to generate
400 V.

OR
Explain the basic principle of operation of a DC Generator with a simple loop

generalor?

Distinguish between generator and motor action. Derive the equation for the back
e.m.f of DC motor?
Find the torque cxerted by a 4-pole series motor whose armature has 1200
conductors Connected up in wave winding. The motor current is 10A and the
flux per pole is 0.02Wb.

OR
Explain the armature voltage and field flux control methods for the Speed control

of a DC Motor.
Describe Retardation test in detail . What are its advantages and disadvantages ?
OR
[xplain in detail about the parallel operation of DC series generalors
Discuss the constructional features of transformers. Draw ncat diagrams.
A 10KVA, 2200/400V transformer has R1=5 Q, X1=12 Q, R2=0.2 Q and X2=0.48 Q.
Determine the equivalent impedance of the transformer referred to (i) primary
side (ii) secondary side.
OR
Explain the effect of variations of frequency and supply voltage on iron losscs
Write a short notes on practical Transformer
Draw the equivalent circuit of an Auto transformer.
In a 25-kVA, 2000/200V, single phase transformer, the iron and full-load copper
lusses are 350 and 400W respectively. Calculate the efficiency at unity p.f. on (i)
full load (ii) half full-load.
OR
Determine load shared by two transformers are each transformer when
connected in parallel With equal voltage ratios
Draw and explain the Connection diagram of Y-A&A-Y connected 3-phase
transformer
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Q.P. Code: 19CS0506

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY:: PUTTUR
B.Tech II Year I Semester Supplementary Examinations Aug-2021
DATABASE MANAGEMENT SYSTEMS

(CSE)

Time: 3 hours

(@) Define Database? Discuss about applications of Database Systems?
(b) Write a short note on Database users and administrators?

(Answer all Five Units 5 x 12 = 60 Marks)

OR

Explain about ER model and Component of ER Diagram?

(@)
(b)

(a)
(b)

Explain in detail about 1NF, 2NF, 3NF and BCNF with example

(a) Compare Trivial and Non - Trivial Functional Dependencies with example.
(b) IHlustrate redundancy and the problems that it can cause.

Explain ACID properties and illustrate them through examples?

(@)
(b)

(a)
(b)

()
(b)

NIT-II
Classify the Relational calculus in detail?

Describe the SET operators with example.
OR

Distinguish different types of aggregate operators with cxamples in SQL?
Create a sub query to establish the WHERE, ANY,AS and ALL sub queries with

example.

OR

OR
Define Schedule? What is a scrial schedule?
Demonstrate Conflict Serializability?

Discuss how do you recover from failure?
Explain about the deadlock prevention schemes.

OR
Which level of RAID is best? Why?

Explain about failure with loss of non-volatile storage.

Fedkk END kkk
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